Name: Date:

WARTe,

Multiplication Tables
of 2, 5, and 10

Practice 1 Multiplying 2: Skip-Counting
Color the shapes.
Use the same color for the shapes that have the same value.

1. / 5 groups of 2 \ 3 %2

5x2

4 x 2

3 groups of 2

16

/ 4 groups of 2/

6x2 i&
i% (IO groups of2j
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Count by 2s.

Then fill in the blanks.
— Example
Ls
o4, 0 8 o 2 )
-
2. 6, 8, 10, , 18
3. 3§, 12, 14, , 20
Y. , , 10, 12, 14,
Fill in the blanks.
5. 6x2= 6. 3x2=
7. 7x2= 8. U4Ux2=
9. 9x2= 10. 5x2=
N 8x2-= 12 1x2-=
8. 10x2= M 2x2=
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Practice 2 Multiplying 2: Using Dot Paper

Use dot paper to solve.

1.

There are 4 bags.
2 rolls are in each bag.
How many rolls are there in all?

Ny Ny N/ N/ 1 2
198
310 O
410 O
L/\_/\J\/\J
4 x2=
Thereare____ rollsinall.

6 bicycles are in the shop.
Each bicycle has 2 wheels.
How many wheels are there in all?

OO0O00OO|~
OOOO0OO|~

1
2
3
X2=___ 4
5
6

Thereare____ wheelsin all.

§
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Use dot paper to solve.

3.  Mrs. Smith buys 5 burgers for her children.
Each burger costs $2.
How much do the 5 burgers cost in all?

1 2

110 O

2|0 O

3|0 O

x$2=7% 33
The5burgerscost$_— inall. E/\S)\/C\)/\J

4.  Ed buys 9 pairs of socks.
Each pair of socks costs $2.
How much do the socks cost in all?

38833833388

Ll

&=
e

x $ =%

oo NoOoTOGPbdoON -
OO000O0OOOO|~
OO000OO0OOOO|~

Thesockscost$__ inall.

§
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Use dot paper to fill in the blanks.

— Example 2
O O O O
O O O O
O O O O
O O —3» |00
O O O O
o0
PN
5x2=10 7x2=10+—4
_ 14
. J
5. O O O O
O O O O
O O O O
O O O O
O O O O
O O — > O O
O O O O
O O O O
O O O O
L/\/\/\/\,J
10 x 2 = 20 9x2=20-

6. 6x2=10+
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Use dot paper to find the missing numbers.

— Example

.
]C])CZ) 1 2 3
2|33 1000
3O O 2000
L/\/\/\/\.J L/\/\f\_/\J
3 x 2 =06 2 x3 =6
\_ )
8. OO
00
S S 00000
oXe, 00000
L/\_/\f\_/\J LM/\/\J
X = 2X =
9. OO
OO
oXe,
oXe,
00O
OO
88 000000000
S 0 000000000
L/\/\J\f\J L/\/\/\/W\/\_/\J
X = X =
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Practice 3 Multiplying 5: Skip-Counting

Jon is skip-counting by 5s.

He shades each number he counts on a hundreds chart.
He misses some numbers.

Circle the numbers he misses.

1 1123|4567 ]8]9]10
mlw2l3|u|a5]16|17]18]19 |20
21 22|23 |24 |125] 26 | 27 | 28 | 29 | 30
31 |32 (33|34 [35(36[37]38]39]|40
w1 (42 |u3 |4y [us5 |46 |u7 |48 |49 |50
51 |52 (53|54 (55|56 |57|58]59]60
61 626364 |65]66]|67]68]69]70
71172173 |74 |75 76| 77| 78 | 79 | 180
81 |82 (83|84 |85|86|87|88]89]09
91 (92 (93|94 [ 95|96 |97 |98 |99 |100

Find the missing numbers.

— Example 7= \
39roupsof5=;x5 1015
_ 15 :
. J
2. 4Ygroupsofs5=___ x5 —
— 5
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3. 5groupsof5= X

Use your
fingers.

4. 7 groupsof5= X
5. 8 groupsof5= X
6. 9 groupsofb5= X
Count by 5s.
Then fill in the blanks.
7. 5,10, 15, 20, 25,
15
10 20 =

y 25 30

8. 20,25,
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Count by 5s.

Then fill in the blanks.

9. 20, , 30, , 40,45

10. , , 25, 30, 35,

Fill in the blanks.

Nn. 3x5=__ 12. 2x5=
B. 6x5=__ ™. 8x5=
5. 9x5=__ 16. 7x5=
7. 5x5=__ 18. 10x5=
Solve.

19.  Three children raise both hands.
There are 5 fingers on each hand.
How many fingers do they raise in all?

Theyraise_____ fingersinall.
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20. Jeff buys 7 books at the bookstore.
Each book costs $5.
How much does Jeff pay for the 7 books?

x $ =%

Hepays$____ forthe 7 books.

21. There are 9 trays on the counter.
There are 5 plates on each tray.
How many plates are there in all?

Thereare_______ platesinall.
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Practice 4 Multiplying 5: Using Dot Paper

Use dot paper to solve.

— Example 2

Kelly uses 5 beads to make one necklace. 12345
How many beads does she use fo make 8 necklaces?

O
O O
O
O
O

8 5 4o

X =

She uses L’—O beads to make 8 necklaces. Lf\f\f\/\J
)

\

1. 9 friends buy tickets to a movie.
Each ticket costs $5.
How much do the friends pay in all for the tickets? ;

OO|-
QO™
OO|«
OO|F
OO|w

OO0O0OO0
OO0O0OO0
00000
OO0O0OO0
OO0O0OO0
OO00O0O
OO0O0OO0

“ - AN

They pay $ in all for the tickets.

O OO NONOWh FWN
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2.  Ellen packs some books into 10 boxes.
She packs 5 books into each box.
How many books does she pack in all?

She packs _____ books into 10 boxes.

Multiply.
Color the dots to help you.

5\000\IO\U'I-IZOOI\)—-

OOO|—
OO0~
OOO0|w
OOO|+
OO0 |«

00000
OOO0O0O0
OOO0O0O0O
OO0O0O0O0
OO0O0O0O0
O0OO0O0O0O
OO0O0O0O0O

— Example

OO0O0O0O
OO00O0O
00000
O0O0O0O0O
O0O0O0O0O
00000
00000
00000
00000
00000

ool

5 x5=—25

OO0O0O0O00O0
OO0O0000O0
OO0O0O00O0O0
OO0O0O0O00O0
OO0O0OO0O00O0

/x5=

OO0
OO0
OO0
OO0
OO0
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Multiply.
Color the dots to help you.

4. 00000

LIW\I\J 3x5=___

Use dot paper to fill in the blanks.

2. 00000
00000
00000
00000

aVaVaVaN

OO0O0O
OO00OO
OO0O0O
OO0O0O0
OO0O0O0

Lesson 4 Multiplying 5: Using Dot Paper
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Use dot paper to fill in the blanks.

6. 00000
00000
00000
00000
00000
00000

OO0
OO0
OO0
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Practice 5 Multiplying 10: Skip-Counting
and Using Dot Paper

The numbers below the chart follow a pattern.
Use the hundreds chart to find the missing numbers.

1 1 l213ly|5]l6]7]8]9]10
nmiwlm|lmwlis|16]|17]18]19]20
211222324 [ 252627 [ 28] 2930
313233 |34(35(|36|37[38]39]|40
41 (u2 [u3 [uy (45|46 |47 |48 |49 | 50
51|52 |53 |54|55]|56|57]58]59]|60
6162|6364 |65]66|67]|68]69]70
71172173 4 |75]76 |77 78] 79| 80
818283 |84|85|86|87(88]89]90
9119293 |94 |95]|96|97]98]99 100

10, , , 140, 50,

70, , 90,

Use patterns to fill in the blanks.

— Example 1
1x1=—’
lxlO:L
- y
2. 2x1 = 3. 3x1 =
2x10=__ 3x10=
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Use patterns to fill in the blanks.

Y. Uxl =__ 5. 5x1 =

4x10=__ 5x10 =
6. 6x10=___ 7. 7x10 =
Solve.

8. There are 4 bundles of sticks.
Each bundle has 10 sticks.
How many sticks are there in all?

4 x10 =
Thereare ________ sticksin all.

9.  Megan makes 6 bracelets.
She needs 10 beads to make one bracelet.
How many beads are needed to make the 6 bracelets?

x 10 =

beads are needed to make the 6 bracelets.
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Solve.

10. During sports day, 10 children form a group for a relay race.
How many children are there in 8 groups?

x 10 =

Thereare________ childrenin 8 groups.

M.  The school band has 10 violins.
Each violin has 4 strings on it.
How many strings are on the 10 violins?

Thereare_______ strings on the 10 violins.

Lesson 5 Multiplying 10: Skip-Counting and Using Dot Paper
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Use dot paper to multiply.

12.

OO0000OOO0O0O0
OO0000OOOO0O0
O000O0OOOO0O0
OO000O0OOOOO0

OO00OO
OO0O0O
OO0O0O
0000
0000
OO0O0O
0000
OO0O0O
OO0O0O
OO0O0O

10 x 4

4 %x 10

‘pajiwIT djeAlld (i0debuls) [euoneuIdlul Ysipuaae) [|eysiew @

Q000000000
0)0J010101010)010)0;
Q000000000
Q000000000
Q000000000
Q000000000
0)0]0)010)e;
0)0]0)010)e;
0)0]0)010)e;
0)0]0)010)e;
OO00OO0OO
OO0OO0OO
OO0OO0OO
OO0OO0OO
OO0OO0OO
OO0OO0OO
e

OO0OO00O00OOOO00O
OO0OO00O0OOOO00O
OO00O0OOO0OOO
OO00O0OOO0OOO
0000000000
0000000000
OO0OO00O00OOOO00O
OO0OO00O0OOOO00O
OO0OO00O0OOOO0O

0)0]0]010)0X010]e)
0)0]0]010)0X010]0)
0)0]0]010]0X010]0)
0)0J0]010)0X010]e)
0)0J0]010)0X0)0]0)
0)0J0]010]0X0)0]6)
0)0]0]010)0X010]0)
0)0]0]010)0X010]0)
0)0]0]010)0X010]0)
0)0]0]010)0X010]0)

.
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Practice 6 0Odd and Even Numbers

Circle groups of 2.
Write the number.
Then fill in the blank with odd or even.

— Example

EEEE T
%&C{%pé}i(@

Thereis __~ L\x j% left.
odd

~

13 is an number.

1. Is 20 an odd or even number?
Circle groups of 2.
Then write odd or even.

LN AT ¢ = T AP
B e T, J L :-?'\ )
- L A
AR D am @ @
o, Sam W X r S T A | .
et —r v/ e T ""_"‘—"”_I."' el
LY L
e
¥ ":.\.
i)

Thereis___ " 7 left.

20isan_________number.
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Draw 26 hearts.
Then circle groups of 2.
Is 26 an odd or even number?

26isan___________ number.

3. Draw 19 flowers.
Then circle groups of 2.
19 is an number.
Complete.
Use numbers that are the same.
4. 8=4+
5. 2= +6
6. 10 = +
7. 22 = +
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V/
\\@ Math Journal

$2
pen
$10
dictionary &

Look at the pictures.
Write multiplication stories.
Use multiplication tables of 5 and 10.
—— Example ~

Mandy bought 10 pens.

She paid $2 for each pen.

How much did she pay altogether?
- Story A ~
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Look at the pictures on page 149.
Write multiplication stories.
Use multiplication tables of 5 and 10.

- Story B
.
- Story C
.
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\
~ (¥ put on Your Thinking Cap!

Challenging Practice

Fill in the blanks with the correct numbers.

ST
(2

O o

Chapter 6 Multiplication Tables of 2, 5,and 10 151



V7
\? Put On Your Thinking Cap!

¢ Problem Solving

Solve.
A shop sells oranges and apples packed as shown.

bag of
5 apples

For every 10 oranges Jennifer buys, she also buys 5 apples.
She buys 20 oranges.
How many bags of fruits does she buy altogether?

You may want to
draw a diagram to

help you.

Jenniferbuys _____ bags of fruits altogether.
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Chapter Review/Test

Vocabulary
Fill in the blanks.
Circle the words that belong.

1. 15, , 25, 30, , 40
To find the answer, (multiply / skip-count) by fives.

2. (s5x2=10 ) ((2x5=10 |

These are (addition facts / related multiplication facts).

Concepts and Skills
Use dot paper to find the missing numbers.
3. 4. 00000
OO0000O
00000
50 00000
5 00000
58 00000
S5 00000
ole 00000
o0 00000
o0 00000

|
E

~
X
N
I

+4 7 x5=50-

Chapter 6 Multiplication Tables of 2, 5, and 10 153



‘pajiwIT djeAlld (i0debuls) [euoneuIdlul Ysipuaae) [|eysiew @

O O
O O 00000
O O 00000
! loo /00000
N LN
0000000000
slelolelolelolelole
slelolelolelolelole!
5000000000
0000000000 i 2933
3333000088 G
T 00000
olelelelelelelelele o & 1000006 110000
0000000000 x x x 0000
, oo LN =t

Use dot paper to find the missing numbers.

5
6.
7
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Use dot paper to find the missing numbers.

8. 7x10 =
OO0O0OO0OO0OOOOOO
OO0O0OO0OO0OOOOOO
OO0OO0O0O0OO0OOOOO
OO0O0OO0OO0OOOOOO
OO0O0OO0OO0OOOOOO
OO0O0OO0OO0OOOOOO
OO0O0OO0OO0OOOOOO

|

O00O0OOOOOO

Find the missing numbers.

Then match the numbers to the letters to answer the riddle.

9. e g e )
6x2= A

|\ I\ V. J

( A4 Y \
8x5= L

|\ AN N J

(" Y Y N\
9x2= S

|\ I\ V. J

10x7 =

O000OOOOOOO
O000OOOOOOO
0J0)01010)01010)0)0,

O000OOOOOO
OO000OO0O0OOO0
0J0)01010)01010)0)0,

N\

10x9=] [N
(8x10=] |V

[ am named after Admiral Penn.

What state am I?

50 15 90 90 18 30 40 80 12 90 14 12

Write odd or even.
10. 15

12, 24

n

13.

Chapter 6 Multiplication Tables of 2, 5, and 10

14

17

%

7x2=

Y

LN

10x5=]

(3x10=)
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Problem Solving
Use skip-counting or dot paper to solve.

.  Teddy grills 8 skewers of chicken.
Each skewer has 2 pieces of chicken.
How many pieces of chicken does he grill?

Hegrills ____ pieces of chicken.

15.  Mr. Wilson has some strawberries.
He gives an equal number of strawberries to 10 children.
Each child gets 6 strawberries.
How many strawberries does Mr. Wilson have?

Mr. Wilsonhas ______ strawberries.

16. Jess has 4 friends.
She gives each friend 5 pennies.
How many pennies did Jess give away?

Jessgivesaway ___________ pennies.
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